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FBy= 2658.22# o
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FBy=

SMB=(20.5625"%500#) + (4.022097*850#)—(FA*COS 14.27127)%(7.43054”)— ({(FA*SIN14.2712)*(0.573800))=0
13700.0"# —((FA*COS 14.2712°)%(7.43054"))—((FA*SIN14.2712)%(0.573800")=0
13700.0"# —(FA*7.20123) — (FA*0.141449)=0

13700.0"# = FA*7.20123 + FA*0.141449
13700.0"# =FA*7.34268=0

13700.0"# = FA*7.34268

7.34268 _[ 347268

1865.80# = FA

FAx=1865.80*COS 14.2712
FAy=1865.80*SIN 14.2712"

SFi=-850# — (1865.80#*COS 14.2712°) + FB=0
—2659.23# + FBx= 0
—FBx —FBx
2658.224 = FBx

SFI=—500# + (1865.80#*SIN 14.2712") — FBy=0

—40.0581 — FBy= 0
+FBy +FBy

40.0581#=FBy



